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December, 2023 

Physics 

PHE-16 : COMMUNICATION PHYSICS 

Time : 2 Hours     Maximum Marks : 50 

Note : (i) All questions are compulsory. However, 

internal choices are given.  

 (ii) You can use a calculator.  

 (iii) Symbols have their usual meanings.  

1. Answer any five parts : 2×5=10 

(a) 
S

N
 ratio at the input of an amplifier is 60 

and at the output is 20. Determine noise 

figure of the amplifier. 

(b) What is the peer-to-peer architecture of 

computer ? 

(c) Write down the steps involved in joining 

two optical fibres. 

(d) What are the uses of WAP ? 
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(e) What is the maximum number of 

subscribers catered by a 9-digit telephone  

number ?  

(f) Represent 01101010 signal in bipolar RZ 

format. 

(g) Draw a neat diagram of a wave guide  

E-plane T-structure. 

2. Answer any two parts : 

(a) What are the common sources of noise in a 

communication system ? Describe any 

three hardware methods for improving 
S

N
 

ratio.  2+3 

(b) Draw detailed block diagram of typical 

communication system. Explain the  

blocks in it involved in new frequency 

generations. 3+2 

(c) Obtain the transmission line equations and 

the expression for characteristic impedance 

of a lossless transmission line. 3+2 

3. Attempt any two parts : 5×2=10 

(a) Explain an analogue frequency modulation 

technique used in digital communication 

system with appropriate diagrams. 

(b) Describe the advantages of electronic 

exchange. 
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(c) Explain any one method of frequency 

demodulation with the help of an 

appropriate diagram. 

4. Answer any two parts :  

(a) Explain the losses in an optical fibre. 5 

(b) Why is it necessary to use rastering in case 

of transmission of video signal ? Explain 

the scheme of interlaced scanning in 

television. What are its advantages ? 1+3+1 

(c) What is CDMA ? Draw the schematic 

diagram of CDMA generator. 3+2  

5. Attempt any two parts : 5×2=10 

(a) Describe the layers of WAP architecture. 

(b) What is assembly language ? State its 

merits and demerits. 

(c) Compare OSI and TCP/IP reference 

models. 
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2×5=10
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N
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WAP
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5×2=10 

3+2 
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5×2=10 
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WAP
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